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COMPARING MEANS

 There are many cases where the results of two sets of
measurements need to be compared.

* In these Instances, it Is not necessary to know the “true” value of
the what Is being measured, we simply need to have information
about the quality of the measurements of the samples.

 The question that Is typically asked (the null hypothesis) is

wether or not the means of each set of measurements are the
same (or not).
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* In comparing means we need to first identify the type of
data set that we are dealing with.

* [he measurements could be paired, or unpaired.

* With paired data, the same samples are measured with

each analysis.

* With unpaired data, the sample Is split and part is measured
by each analysis.



COMPARING MEANS OF UNPAIRED
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PERFORMING AN F-TEST
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+ If the null hypothesis (Ho: sp* = sg*) is accepted, the
variances from both measurements may be pooled.

B Rlicdesrees of freedom are then calculated! as:
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SAMPLE CALCULATION

It Student A and B measured samples from the same population, are
their reported means different at the 95% confidence level!
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